Grammar P=2% N ==

3rd partial
Name: Date:
COMPLETE THE SENTENCES
|, she, he irregular you, we first , then , finally
1. The verb beis an verb
2. The adverbs , hext, , after that
and, tell the order in which action happen.
3. Use wasn’t with , s and it
4. Use weren’t with i , and they

Drag the correct answer to complete the sentences.

Was were wasn't weren’t
5. His parents at the supermarket.

6. It dark in Central park at night.

7. The children at school yesterday.

8. She on the bus last night.

Write the irregular simple past tense.

PRESENT PAST

RUN
TOOK

EAT
GO

COME
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